Unit 5 Linear Functions Practice Test

Name: K-Qlj Date:

1. Which equation represents the line shown in the 3. Use the graph below to answer the following

graph below? question.
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Which is an equation of the line?
y=%x+4 B y=%x—6
—.=2 =2x_

C. y=3x+4 D. y=3x-6 L e B, Jerglil

©y=‘—gx+5 D. y:%x—s

2.  Look at the table of values.

x|y
1|4 4.  Which equation represents the data in the table?
(1) -21 <—Y-ink ,w@so
’ 10| 70
x| t3 \O ¥30
v2 [ 5970 A4 _3_4 0] 100%™ 30
8 o% o] R -8. 3
40 | 16 ola 10
Which equation represents the relationship between 0
x and y? )
C=3n+40 B. C=-3n-40
A y=x-3 B. y=3x+1
g = C. C=3n-100 D. C=-3n+100

C. y=-x-3 y=3x—1
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5. A line is shown on the coordinate grid below. 7.  Which of the following best represents the graph
of a line with an undefined slope?
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Which of the following best represents the 1
y-intercept of the line? PN Y B R i ]
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6.  Which is the graph of the equation y =27 A
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8.  Which equation represents the pattern shown in
the table below?
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yloe|10|14]18]22
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A, y=x+4 B. y=3x+3
@,-:4”2 D. y=6x

9.  The table below shows a relationship between x

and y.
Bk s
X PRy DY - "3‘ - 2-
-5| 14 g
Y e o —-___L}‘ 2
¥2 | ol )
—4 })-2
a

Which of these equations descnbes this
relationship?

B. y=—%x-—2

y=—2x+4

10. What is the y-intercept of the line 2x — 3y = 127

(0,-4) B.

C. (2,0 D.

2/& 5_\1

- =_2_y\,‘__\.z
T 3 3
E %x*\r

0,-3)

(6,0)
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1. Six points are plotted on the coordinate grid below.
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Which two points lie on a line with a slope closest
to zero?

Ly horizontad Jane

A. NandJ

C. Pand L

12.  What is the slope of the line containing the points
(-2,5) and (1,-7)?
X, ';h X2 ‘:51.

@—4 B. 2 C. 2 D. 4
~1+5

LV S
| +12_ 3 .

13.  Determine the slope of line with points located at
(-3,2) and (1,2).

x||9l XZSZ
B. 5
@o D. Undefined
-2 0
2.2 _ o
-3 7 1
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14.  Which best represents the graph of x = =37 15. Which equation represents the line passing through
the points (-2,4) and ()3'8)?
A. J 3
595 B IE0 O P B O B0 Al y=-x+2 B. y=-x+6
IR T S 1 7 S A0 ¢
1 R il . y=x+4 ' =x+6
00 O = 0 C y=x ) x
..... 1 - - 4 + 4=
' x

......... y

"f:'-?“"‘ e

g -
"'j"':"_“:'_" A-"3
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== |

\j:mxrb
g=12)xb
g=2+b
b= b

\j:X.’k-\o

16. What is the equation of the line that has a slope
of 4 and passes through the point (3, —10)?
X

y=4x—-22 B. y=dx+22

C. y=4x-43 D. y=4x+43

=M X r o

-0 =Y4(3)rb

=0 = ) ‘\‘b
=i =

-2 = b

\5:%.-29.
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